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Each one is worth % point. So, get them all right, you can score 11 out of 10 possible.
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Matching

i 2 0. r=-6cos0 A. Vertical Line
[ 2 7. 6=rsind B. Horizontal Line

E 8. r=-—6sinb C. Circle, center (0, 0), radius = 3
; \ 9. -3 =rcosO D. Circle, center (-3, 0), radius = 3
Q/ 10. r=3 E. Circle, center (0, —3), radius =3
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Match the equation with the graph. 1
E ; 11. r=2+4sind lq < /'./-—\‘\ B.
’ } loolp A \f
C 2. r=2+4e0 g\ () I (0] (1\%//[41"3
l loop
ﬁ 13, r=2+2cos0 (0| =\l [4}‘0]
! Almg e P
B ol r—aeasmo a{\b! N D.
- r [Cqulbl A 14 (d E,ﬁ\ \7
r=4+2cos \ "[6&:(
Q 1. 442050 Eéé@df\t)ﬂ\;\ G N
E 16. r=2+7l_.sme (q\»-\\)\ [Z o] |
\l/ v OlﬂV‘VQ_ E. /, ,,,,, ”":—\\\ F.
O\ b (’/ ' \
)
B— //GHOJ

Match the equation with the graph.
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